
ADA INSTALLATION EXPLODED VIEW / REPAIR PART GROUPS

ADA INSTALLATION - FOR STANDARD INSTALLATION SEE PAGE 1 PG.9

14

1
2

5

3
4 6

7

8

9

17

18
16

19

26

27

28

20

22

24

23 25

21

15
12

11

13

29

10

*ADA Installation only

REPAIR PARTS

Item 
No. Description Qty.

1 1" x 90  Galv. Street Elbow 1
2 1" x 19-3/8" Galv. Pipe, TBE 1
3 Rubber Floet Housing 1
4 20 GPM Flow Control 1

5.1 1" Chrome Plated Brass Ball Valve 1
5.2 1" Stainless Steel Ball Valve
6 1" 4-1/2" Galv. Pipe, TBE 1
7 1-1/4" Galv. Plug 1
8 1-1/4" x 1-1/4" x 1" Galv. Tee 1
9 1-1/4" x 22-1/4" Galv. Pipe, TBE 1

10 1-1/4" Galv. Tee 1
11 1-1/4" x 26-7/16" Galv. Pipe, TBE 1
12 1-1/4" x 1/2" Galv. Drain/Supply Cross 1
13 1-1/4" Galv. Floor Flange 1
14 8" Deluge Showerhead 1
15 Stainless Steel Flexible Supply Hose 1

16.1 Lever Handle w/Spring Plunger (SE-1200/SE-1250) 1
16.2 Lever Handle w/Spring Plunger (SE-1255) 1
17 7/16-20 UNF Stainless Steel Nylo-Hex Nut 1
18 Clevis Pin 1
19 Cotter Pin 1

20.1 29" Aluminum Pull Rod 1
20.2 29" Stainless Steel Pull Rod 1
21 1-1/4" x 11-5/8" Galv. Pipe, TBE 1
22 Eyewash Unit 1

22.1 Plastic Bowl, Chrome Plated Brass Ball Valve (SE-1 1
22.2 S/S Bowl, Chrome Plated Brass Ball Valve 1
22.3 S/S Bowl, Stainless Steel Ball Valve 1
23 1/2" Ball Valve 1

23.1 1/2" Chrome Plated Brass Ball Valve (SE-1200/1250) 1
23.2 1/2" Stainless Steel Ball Valve (SE-1255) 1
24 Paddle Handle 1
25 3/8" Stainless Steel Nylo-Hex Nut 1

26.1* Aluminum Pull Rod Extension (SE-1200/SE-1250 ADA Only) 1
26.2* Stainless Steel Pull Rod Extension (SE-1255 ADA only) 1
27* 1-1/2" Long 1/4-20 Machine Screw 1
28* 1/4-20 Stainless Steel Nylo-Hex Nut 1
29 1-1/4" x 32-3/8" Galv. Pipe, TBE 1

Item No. Part No. Description
5 SE-911 1" Ball Valve
5 SE-911-SS 1" Stainless Steel Ball Valve SE-1255 Only
14 SE-870 8'' Plastic Showerhead
14 SE-880 8'' Stainless Steel Showerhead

20.1 RPG47-0046 Aluminum Pull Rod (With ADA Extension)
20.2 RPG47-0044 S/S Pull Rod (With ADA Extension)
22.1 SE-1000 PlasticBowl, Chrome Plated Brass Ball Valve
22.2 SE-1050 S/S Bowl, Chrome Plated Brass Ball Valve
22.3 SE-1055 S/S Bowl, Stainless Steel Ball Valve (SE-1255 only)
15 RPG63-0094 Stainless Steel Supply Hose


